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What are plus curricular activities-

(1)
(2)
(3)
(4)
(A)
(<)

Use of Braille .
Orientation and mobility
Dailly living skills

Sensory training

1, 2,3 (B) 1,3,4
1, 2.3, 4 D) 1,2 4

Statement {5)- A person feels anxiety

Reason (R) -

(A)
(B)
(©)

(@)

during examination.
Psychological stresses
are those which arise
i our mind,

S and R both are cormect and R is
the correct explanation of S.

S and R both are correct but R 1s
not the comect explanation of 5.

5 is correct but R is incorrect,

5 is incormect but R is comect.

Interpersonal skills are-

(A)

(B)
(<)
(D)

ability to listen and be empathetic
to others

time management strategy
desire to help others

knowledge of self

Factors affecting problem solving are-

(1)
(2)
(3)
(4)
(A)
(C)

Functional fixedness
Mental set

MNature of problem
Training
1, 2.3
1,43, 4

(B) 3 &4
o) 2,34

Inductive Reasoning is used by what
type of thinker-

(A)
(B)
(C)
(D)

Creative Thinker

Evaluative Thinker
Deduct|ve Thinkar
Analogical Thinker

‘P.T.0.
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Which of the following is not a
soclal motive -

(A) Need for achievement

(B) Need for hunger, thirst and sleep
(C) Need for Approval

(D) Need for Afflliation

What are the determinants of

forgetting -

(A) MNature of leamt material

(B) Method of learning

(C) Serial position of items

(D) All of the above

Which of the following teaching

techniques is most suitable for

children?

{A) Play, observation, story telling,
lecture

(B) Group discussion, gulded reading,

lecture

(C) Project work, play, observation,
story telling

(D) Seminar, story telling, play,
observation

From the student’'s viewpoint the
factors affecting teaching and
learning process ane-

(1) Mental and Physical Health

(2) Age and Maturation

(3} Level of Motivation

(4) Intelligence and Aptitude

(A) 1,2, 3 (BYy 1,3 4

€ 1,2,3,4 e) 23,4

The factor related to teacher that most
affects the process of teaching and
learning is-

(1) Knowledge & Skill

(2) Behaviour

(31 Introvert personality

(A) 1&2 g 2,3
{C) Only3 (G) 1&3
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The dimensions of emotional
intelligence are-
(1) To understand emotions of self
(2) To control emotions
{3) To recognise the emotions of

othears

(A) 1&2 (B 1,23
(C) 2&3 (D) Only 1
Which of the following is a
Standardized tool ?
(A) Soclometry
(B) Autoblography
(C) Cumulative Record
(D} Kuder Interest Record

Development of language in children
according to B.F, Skinner is the
result of -

(A) Trainingin grammar

(B} Imitation & reinforcement

(C) Innate abilities

(D) Maturation

Archimedes found the solution of his
problem when he was in his bath tub.
This will come under which step of
procass of creativity 7

(&) Preparation

(B) Incubation

(C)  Diumination

(D) Verification

The test designed to measure the
ability to acquire néw information used
primarily to predict future performance,
is related with -

{A) Aptitude tests

(B} Achievement tests

(C) Intelligence tests

(D)} Personality tests
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In a constructivist classroom, teacher
Is -
(A) A leader of the democratic

learning group
(B) Controller of class discpline
(C} Creabtor of demeocratic group
(D} Manager of dass disdpline
Learner centered approach takes into
account-
(1) Lesarner's capabilities
(2) Learning styles
(3) Context and Culture
(A) 1&2

(8 1,23

(C) Oniy1

(D) 2&3

Which theory of personality was

developed by Sigmund Freud ?

{A) Psychoanalytic

(B) Behavioristic

(C) Humanistic

(D) Psycho-social

An effective teaching aid is one which

is - .

(&) colourful and good looking

(B) activates all faculties (mental and
physical)

(C) visible to all students

(D) easy to prepare and use
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Which of the fnlfuwlnq are

Appropriate Practices for teaching ang

leamning 7

(a) Children are expected to be Quiet
and listen tg the teacher

(b) Children should be Provided many

{c) interactions ang activities shoylg

(B) Fiaget's theory is an example of
this approach,

(C) Skinner's theory is an example of
this approach,

(D) Binets ti'haw ig an example of
this approach.

A student may Study for 3 test
because he or she enjoys the
Content of the course is an ‘example
af-

(A) Intrinsic motivation

(B) Extrinsic motivatian

(C) Ad-.lwmuummvaunn
(D) Sn:rad'muuuﬂm
P.T.O0,
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23. Individualized Education Plan is a

written statement that spelis out a
program for students with -

(A) High Intelligence

(B) Creativity

(C) Spedal needs

(D) High motivation

Characteristics of ADHD children are-

{i} Inattention

(i) Hyperactivity

(i) Impulsivity

(&) only (i)

(B) (I)and (i)

(C) (i), () (i)

(D) only (ill)

Dancers and Athelets are good in
intelligence.

{A) Mathematical

(B) Spatial

(C) Bodily-Kinesthetic
(D) Interpersonal

26. Abstract, Idealistic and Logical

thinking appears in which stage of
development 7
(A) Sensori-motor

(B) Pre-operational
(C) Concrete operational
(D) Formal operational

. According to which Learning theory

rewards and punishment shape
individual's development?

(A) Skinner's Learning Theory

{IH] Paviov Learning Theory

(C) Piaget Learning Theory

(D) Bandura's Learning Theory
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First Language - English
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Direction (Q. No. 31-34) : Read the
passage given below and
answer the questions that follow by
selecting the most appropriate
option. .

Stammering Is a habit disorder linked
with lack of self-confidence. Basically,
for a child to understand a language,
there are four stages. The first Is
learning to understand the spoken
language and second is speaking. Both
of these usually develop around the age
of two. The third stage is speaking
complex sentences, which develops at
around 3rd and the fourth , is when
the child recognises the written
alphabet. In 80% of children while the
3rd and 4th stages are at play, the first
two get disturbed because something
new is being incorporated in the mind,
This is absolutely normal. But what over
cautious mothers do Is fret a lot and
the child develops a fear which later
manifests itself as stammering. In fact,
most text books on stammering state
in bold that, "Had there not been any
over cautious mothers, hardly any one
would have-suffered from stammering.”
Fuency can be incorporated in the

. speech of such patients through

hypnosis.

Stammering is caused because of-
(A) Physical disorder

(B} Hindered growth

(C} Lack of seif confidence

(D) Lack of understanding

The second stage of a Child's
understanding the language is -
(A) Speaking

(B) Writing

(C) Listening

(D) Reading

SET-A
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------ are basically the reason for
developing a fear in child's mind -

(A} Parents

(B} Owercautious mothers

(C} Fathers

(O} Teachers

Fluency in such patients can be
Incorporated in the speech of such
patients through -

(A) Hypnosis

(B) Slap

(C) Punishment

(D) Symbiosis

Direction (Q. No. 35-38) : Read the
poem given Delow and answer the
questions that follow by selecting the
maost appropriate option.

How happy is he born or taught

That serveth not another's will;
Whose armour |5 his honest thought,
And simple truth his utmost skill;

Whose passions not his master are,
Whose soul is still prepared for death;
Untied unto the world with care,

OF princely love or vulgar breath;

Who hath his life from rumours freed,
Whose consoence is his strong netreat;
Whose state can neither flatterers feed,
Nor ruin make oppressors great;

Who envies none whom chance doth
raise
Nor vice; who never understood
How deepest wounds are given with
praise;
Nor rules of state, but rules of good;

Who God doth late and early pray
More of his grace than gifts to lend;

P.T.O.
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Who entertains the harmiless day
with a well chosen book or friend,;

This man is free from servile bands

Of hope to rise, or fear to fall;

Lord of himself, though not of lands;
And having nothing, he hath all.

In this poem the poet tells the
qualities of -

(A) Ahappy man

(B} Anhonest man

(C) Anordinary man

(D} Areligious man

In this poem the life of the man is free
from -

(A} Peace

(B) Rumours

{C) Rest

(D) Force

In this poem the man prays to God for-
(A} His grace

(B) Precious gifts

(Cy Joyful life

(D} Good friends

Point out the figure of speech in the
line, "And having nothing, he hath all®.
(A} Personification

(B) Samile

(C) - Metaphor

(D) Oooyrmoron

Fluency in English an be developed
through -

(A} Creating opportunities to use the
target language for
communlcation.

The teacher talking for most of
the time.

The teacher being alert to spot
the emors and correct them,
Allowing students who are not
confident to have the freedom to
be quiet.

(B)
(<
(P)

SET-A
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Teaching would be more effective if the
teacher -
(&) Makes his intent purposeful
(B) Is master of his subject
(C) Uses various intellectual aids
(D) Declares his objective in the

beginning
In 'OF studies' who said, "Reading makes
a fullman; conference a readyman; and
writing an exactman?"
(A) Joseph Addison
(B) CharlesLamb
(C) Geoffrey Chaucer
(D)} Francis Bacon
Which methodology sees language as
a complex of grammatical rules which
are to be learnt one at a time in a set
order?
(A} Grammarcum translaton method
{B) The structural approach
(C) Direct method
(D) Communication
Teaching (CLT)

The main function of a language is-
(A) Preservation
(B) Evaluation
(C) Interaction
(D) Al of the above
The primary skills in any language are -
{A) Listening and reading
(B) Listening and speaking
(C) Listening and writing -
(D) Writing and speaking

Language
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Direction (Q. No. 45-46): Choose the
most suitable option that describes the
meaning of the following idioms and
phrases.

I expect he will come round within a
week.

(A) Turnup

(8) Comeup

{C) Recover

(D) Come at last

I readily closed with his offer .

(A} Disagreed

(8) Accepted

(C) Rejected

(D) Agreed

Direction (Q. No. 47) : Find out the
part that has earror In the
sentence given below.

Continuous drizzle / in the city /

(A) (B)
Kept the people / indoors today.
{C) (D}

Direction (Q. No, 48-49) : In
following sentences choose the word
opposité in meaning to the underined
word.

In facing adverse situations, he was
very stoical.

(A} Tactless

(8) Flinching

(C) Awkward

(D) Assured

They made a profligate use of scarce
{A) Proper

(B} Thrifty

{C) Extravagant

(D} Effective

a1.
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Direction (Q. No. 50-51) : Reorder the

following words and phrases to make a

meaningful sentence and select the

most appropriate option,

football match / to have seen / 1

remamber / never / exciting / a more ,

(A) I never remembeér & more
exciting football match to have
LT

{8) I never remember to have seen a
more exciting football match.

(C) 1remember never to have seen a
mare exciting football match.

(D) Iremember {o have seen a more
exciting football match never.

too careful / of his / a man [

In the / enemies / choice / can't be.

(A) A man can't be in the cholce of
his enemies too careful,

(B) A man can't be careful in the
choice of his enemies too.

(C) A man in the cholce of his
enemies can't be too careful.

(D) A man can't be too careful in the
cholce of his enemies.

Direction (Q. No. 52-53) : Select the

maost suitable conjunction and fill in the

blanks.

Rustum |s slow - - - sure.

[(A) and

(B) but

(C) than

(D) or

Take care - - - you should fall.

(A) or

(e

(C) lest

(D} than

P.T.O.



Direction (Q. No. 54) : Select the
maost suitable alternative and fill in the
blank.

I wish he ____not play his wireless so
bonadily.

(A) should

(B) ought

(€} would

(D) did
Direction {Q. No. 55) : Change the
degree of the underined adjective into
positive degree without changing the
meaning of the sentence and select the
appropriate option for that .

Mumbal is one of the richest cities in
India.

{A) Mumbai is one of the rich city in
India.

(B} Mumbai Is among one of the rich
cities in India.

(C)} Noother clty in India is as rich as
Mumbad.

(D} Very few cities in India are as rich
as Mumbai.

Direction (0. No. 56-57): In the

following questions choose the

appropriate actlve voice from the glven

optons.

The theatre was opened only last

month.

[(A) They opened the only theatre |ast
micnth.

(B) They opened the theatre only last

. month.

(C) They had opened the theatre only
last month,

{0} They had been opened the
theatre only last month,

SET-A

APP-11

He will be greatly surprised if he is

chosen,

(A) It will greatly surprise him if they
choose him.

(B) It will greatly surprise them if they
choose him.

(C) It will be greatly surprise him If
they choose him,

(D) It will greatly be surprise him if
they choose him,

Direction (Q. No. 58) : In the

following question select the most

suitable option for the direct narration.

He proposed that they should wait for

the award.

(A) He sald, "We should wait for the
award",

(B} He said, "You should wait for the
award",

(C) He said, "Let them wait for the
award",

(D) He said , "Let us wait for the
award".

Direction (Q.No. 59) : In the

following sentence omit ‘too'

without changing its meaning and
select the appropriate option for that.

The house is too large, not to be able

o accomodate everybody.

(A} The house |5 o large that it will
not be able to accomodate
everybody.

(B} The house |5 not s0 |arge that it
will be able to accomodate
everybody.

(C) The house is so large that it will
be able to accomodate everybody.

(D) The house is so langer that it will
be able to accomodate everybody.

Direction (Q. No. 60) : Select the

word nearest in meaning to

underined part.

The resignation of Chief Minister is

intriguing.

(A) secret (B) ‘interesting

{C) curious (D) diplomatic
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Second Language - English

APP-II

Direction (Q.No. 61-64) : Read the
passage glven below and answer the
questions that follow -

What will the historians of the
future say? They will record that
India produced a great leader, Gandhiji,
and he taught people to work together.
He taught them to break down the walls
which separated the people from one
another. He taught them to uplift the
Harijans because it was his desire that
averyone, Irrespective of his caste,
creed or religion, should enjoy equal
rights and be free. The people of India
rose as one man from the Himalayas to
Kanyakumari, threw off some of the
burdens from their backs and
under the leadership of the great
Gandhiji moved forward and won
Independence. After centuries, India's
star rose in the horizon. Its voice was
heard in the councils of the world,
because It was the real voice of India,
And then these very people of India
whe had shown courage and
determination, fell inte a dream and
into carelessness and quarrelied among
themselves. Sometimes they fought in
the name of religion, sometimes in the
name of caste or language or
state.....We should not lose ourselves
in wrong directions. We cannot allow
our country to fall. Let not this
priceless treasure of our freedom slip
through our hands because of our
wealkness.,

SET-A
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What message has been conveyed by

the author in the passage?

(A) The people of India rose as one
man frem the Himalayas to
Kamyakumari.

(8) That fighting in the name of
religion, caste, language or state
will make us lose our freedom.

(C)} The people of Indla who had shown
courage and determination fiell into a
dream.

(D) Gandhiji taught people to work
together and uplift "Harijans’.

Two salient points from Gandhijl's

teaching to the people are -

{A) Everyoneshould enjoy equal rights
and people should break down the
walls which separate them, from
one ancther,

(B) People should have courage and
determination and fall into dream
and carelessness.

{C) Should ralse the voice and not
uplift the Harijan.

(D) Should breakdown the walls to
separate the people from one
anather.

What Impact did Gandhiji's leadership

have on the people and how did India

gain thereby?

(A) That we should not lose
ourselves in the right directions.

{B) That all Indians should move from
Himalaya to Kanyakumari

{C) Under Gandhiji's leadership people
did not move anywhere to win
Independence

(D) Gandhiji's leadership united the
people to rise as one man, moved
forward and won freedom.



&4.

What sorry state of affairs is
prevailing in the country today?

(A) that freedom is a priceless
treasure of a nation.

that people are united from one
and of the country to the ancther,
that the people of Indla quarrel
amogng themselves in the name of
religion, caste, language or state,
that the people should enjoy equal
rights.

Direction (Q. No. 65-68) : Read the
passage given below and answer the
questions that follow by selecting the
most appropriate option.

Self directed leaming, In its broadest
meaning, describes a process in which
individuals take the initiatives with or
without the help of others, in diagnosing
their learning needs, formulation of
learning goals, Identifying resources for
learning, choosing and implementing
learning strategies and evaluating leaming
outcomes. Thus, It is Important to
attain new knowledge easily and
skillfully for the rest of his or her life.
What is the need for self-directed
learning? One reason |5 that there is
convincing evidence that people, who
take the initiative in leaming, leam more
things and learn better than people
waiting to be taught. The second
reason is that seif-directed leaming is
more In tune with our natural processes
of psychological development: an
essential aspect of maturing is
developing the ability to take

()

()

(D)

SET-A
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65.

67.

APP-11
increasing responsibility of our own lives
to become increasingly self-directed.
The third reason is that many of the
new developments In education put a
heavy responsibility on the leamers to
take a good deal of initiative in their
own learning. To meet the challenges
in today’s instructive environment, self-
directed leamning is most essential.

In self-directed

individuai-

(A) Takes initiative with or without the

help of others.

Is passive and waits for directions.

Is helpless and dependent.

Takes initiative, without an

abjective.

There is need for self-directed leaming

because-

(A} Itisless challenging.

(B} It helps people to learn more
things and learn better,

(C) It is more cost effective method.

(D) Itis a moderm method of leaming.

The modern environment according to

the author |s -

(A} Restrictive

(B) Instructive

(C) Lessdeveloped

(D) Impracticable

The synonym

‘Diagnosing’ is =

(A) Searching

(B) Examining

(C) Identifying

(D) Complying

learning, an

(8)
(<)
o)

of the word

P.T.O.



69. Which one of the following choices is

71,

consited of a perfect language slot?

(A) Talking, listening, reading and
ENpPresting.

(B} Writing, dictating, reading and
listening.

(C) Reading, listening, studying,
spaaking.

(D) Ustening, reading, speaking and
winiting.

In the context of Pupils learning

difficulties which one of the following is

not a learning difficulty?

(A) Poor memary.

(B) Shortof comprehension power.

(C) Inability to transfer knowledge to
the related leaming arsas.

(D) Lack of good books.

The basic purpose of mid term

assessment is -

{A) To decide pass and fail.

(B) Tomeasure leaming achievement.

(C) To glve assignments in writing.

(D) Tomeasure learming achlevement
and arrange supplementary
teaching to fill learning gaps.

72. Taxonomy of educational objectives is

not related to which one of the
following -

(A) Psychoemotor domain.

(B) Socio-economic domain,

{C) Cognitive domain.

(D) Affactive domain.

The ‘structural approach’' in
teaching English corelates between-
(A) Grammar and skills

(B) Skills and drills

(C) Grammarand postry

(D) Grammar and composition

SET-A
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Teaching skills are developed by using-
(A} Simulations
(B) Micro-teaching
(C) Interaction analysis
(D) Action-research,
Direction (Q. No. 75 to 77) : Choose
the correct pronoun (reflexive) to

- complete the sentence.

The bubble burst ..... '

(A) [Itself

(8) himself

(C) themself

(D) herself

The guests made ...... Mearry.

(&) himself

(B) itself

(C) themselves

(D) yourselves

The lapanese feed......chiefly on rice.
(&) himselves

(B) yourself

(C) myself

(D) themselves

Direction (Q. No. 78 to 80): Choose
the correct auxillary or modal vert out
of the given alternatives .

When WE SE€ you again?

(A} shall (B) - may

(C} does (D) should

You ___ improve your spelling and
pronunciation.

(A) might (B) had

(C) rmust (D) would

I live there when I was a boy.
(A)  could (B} rmust

(C) shall (D) ‘used to



Direction (Q. No. 81 to B3) : Select
the correct antonym (opposite of
meaning) of the fellowing -

81. ththnnnAugunls, 1547-
(A) Nberty (B) slavary
(€) misery (©) meny

82. We must fAccept good wishes of ayr
elders.
(A) depart (8) protect
(C)  refuse (D) defuse

83. Hindi teacher gave us important
assignments today.
(&) exclusive (B) inferior
(C)  trivial (D) stupid
Direction : In question 84 select the
most appropriate word to fill in the
blanks in the given sentence,

84, Theshm-grthatuutra\rella-___ Was
Very interesting,
(A) explained (B) repeated
(C) narrated (D) revealed
Direction : In Questions (B85-86)
select the word with correct
spellings for filling in the blanks in the
following sentences

85. Please give me a of white
paper,
(A) peice (B} peace
(C) piese (D} plece

86. My friend and I have __  hobbies.
(A) diffrent (B) different
(C) deferent (D) defferent

SET-A
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Direction : Question No. (B7-90)
Select the
following questions :
Choose the word of Incorrect
spelling-
(A) Gammear
(B) Pedagogy
(C) Mathematics
(D) Compocison
Identify the adverb in the given
sentence :
The wicked (naughty) boy slapped the
Qirl loudly,
(A) wicked
(B) slapped
{C) boy
(D)  loudly
Select correct one word to substitute
the underlined part of the following
s&ntence :
mtdwﬂhﬂﬂjnﬁﬂmemem
BYES.
(A)
(8)

correct answer to the

invisible

unvisible

(C)  invincible

(D) indivisible

Choose the correct word order -

(A) Ilent my pendi him.

(B) Tienthim my pencil,

(C) Pencil my I lent hirm.

(D) My pencil I lent him,

P.T.O.
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Which of the following statement is

false -

(A) In a pie chart a whole circle is
divided into radial sectors

(B) The central angle of a radial
sector in a pie chart cannot be
more than 1B0°

(C) In a pie chart two central angles
can be of 180°

(D) In a ple chart two or more

central angles can be egual

The natural numbers between the
squares of numbers n and n+1 are-
(A) n (B) 2(n+1)

(C) 2n+1 {C) 2n

Linear equation in one variable has-
(A) only one variable with any power.
(B) only one term with a variable.

(C) only one variable with power 1.

(D) only constant term.

The number of teeth and the age of a

person vary -

(A) directly with each other.

(B) inversely with each other.

(C) neither directly nor inversely with
each other.

(D) sometimes directly and sometimes
Inversely with each other,

P.T.0.
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. Which of the following is not true -

(A) A unique quadrilateral can be
drawn if all four sides and one
diagonal is known.

(B) A unigue quadrilateral can be
drawn when all the four angles
and one side is glven,

(C) A unique quadrilateral can be
drawn if all four sides and one
angle is known

(O} A unigue quadrilateral can be
drawn if three sides and two

diagonals are glven.

. A cube of side 4 cm Is cut into 1 cm

slde cubes. What is the ratio of the
surface areas of the original cube and
cut-out cubes?

(A) 1:2
(C) 1:4

| R
(D) 1:6

. If @% is the discount on a marked price

x, then discount is :

a

=
{A) E = 100 (B) ; = 100
a 100
{C) xx 100 ) yxa
. Decimal representation of a

rational number cannot be -

(A) terminating

(B} non-terminating

(C) non-terminating repeating

(D) non-terminating non-repeating
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Zero of the zero polynomial is -

(A) O

(B) 1

(C) Any real number

(D) Not defined

The points (other than origin) for which

abscissa is equal to the ordinate will be

in:

{A) 1quadrant only

{(B) Iand Il quadrants

(C) 1and Ill quadrants

(D) 1T and IV quadrants

The point of the form (a, -a)

always lies on the line -

(&) x=a (B) y=-a

C) y=x (D) x+y=0

Axioms are assumed -

(A) universal truths in all branches of
mathematics

(B} wuniversal truths specific to
geometry

{C) theorems

(D) definitions

If two Interlor angles on the same side

of a transversal intersecting two

parallel |Ines are in the ratio

2 1 3, then the greater of the two angles

is =
(A) 54° {B) 108°
(C) 1200 (0) 138

P.T.O.
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With the help of a ruler and a
compass, it is possible to construct an

angle of :
(A) 35° (By 40°
(Cy 37.5% (D) 47.5°

n*=1 is divisible by 8, if n is -
(A} aninteger

(B) a natural number

(C) an odd Integer

(D) an even integer

AB BC
If in triangles ABC and DEF, DE FD'

then they will be similar, when -

(A) £B=LE

(B) £ZA=/D

(Cy £ZB=x«D

(D) £A=/F

If the dircumference of a circle and the

perimeter of 2 square are equal, then -

(A) Area of the circle = Area of the
square

(B) Area of the circle > Area of the
square

(C) Area of the circle < Area of the
square

(D) Nothing definite can be said about
the relation between the areas of

the drcle and square
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108. While computing mean of grouped data,
we assume that the frequencies are -
{A) evenly distributed over all the
classes

(B) centred at the classmarks of the
classes

(C} centred at the upper limits of the
classes .
(D) centred at the lower limits of the

classes
109. A prism Is a polyhedron whose
lateral faces are-
{A) Crides
(8) Triangles
(C) Parallelograms
(D) Rhombuses or Rhombi
110. The sum of two numbers is 'a" and their

product is ‘b' then the sum of their

reciprocals is -
a 1.l
{A). b () a’b
1 b
L B © 5

111. The sum of a positive integer

number and its square equals the product
of the first three prime numbers.

That number Is -
(a) & 8) 5
C 3 o) 2
R " ¢
HeYmem o rlm= 1 =
112, If 5 :_!lnd"l' Z 53

then (X +Y ) : (Y + Z)is equal to-
(A) 15:16 (8) 9:10
(C) 6:15 (D) 5:8
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If D and E are the mid-points of the
side AB and AC respectively of the AABC
in the figure given here, the shaded
region of the triangle is what per cent

of the whole triangular region?

(A) 75% A

(B) 60%

(c) so% O E

(D) 25% B =
The average score of a class of boys
and girls in an examination is A. The
ratio of boys and girls in the dass is

3:1. If the average score of boys is
A+1, the average score of the girls will

M -

(A) A+1 (B) A-1

(C) A+3 (D} A-3

Mohan, a class-VIIl mathematics

teacher, assigns a lot of survey based

projects to mathematics dass room.

The purpose of such actvity is -

(1} To promote Problem solving skills.

{2) To give an opportunity to collect
authentic data.

(3) To break the monotony of the
classroom.

{4) Touseitan alternative assesment

(A) land2 (B) 1,2and3

(C) 1and3 (D) 1,2and4
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116, Which of the following is not an

117.

118.

important aspect of Algebra -

(A) Measurement

(B) Visualisation

(C) Transposition

(D) Generalisation

According to MNCF-2005, School

mathematics takes place in a situation

where -

(A) Children are listners and the
teacher is an active MNarrator.

(B) Children are involved in
chorus drill of formulae and
pressure of performance n
Examination.

(C) Mathematics is part of children's
life experience.

(D) Children are forced to leam all
concepts by daily practices.

A Mathematics teacher is observing

students working in groups. Her

observation is focussed on collaboration

and interest of each student, and

particpation of Individual student in the

activity, Through this activity she |s

trying to -

(A) do summative assesment of the
students.

(B) do
student.

(C) give training to the students to
WOk in groups.

(D} give training to students In life
skills.

formative assesment of

P.T.O.



119.

120.

Ry W e e o v s
w v e mne og § e s
uftem-

drmanst & aftreiaeRe o e
WET T W & ol W oad
& 2

(B) Fowt R waTa I & iR e
5 oy drit s wead it T
e &1

w pi § s R @ ol
Fee WO & W o9 #n & A
o enffe et &l

(D) WRINE i o FE Toes

(A)

(€)

IEe o ad & )
niow # ofideemd b § Peefiaa
A el ol &

(A) ¥ e wAoE S @ e §

(B) % sefawat seperdl o g oea &

(C) & 7w § 3 Wi &0 3N 3R
&l
(@) %aﬁmaﬂmﬂMHﬁﬂ

SET-A

119.

120,

APP-11
One of the major reason for student’s
failure in mathematics at school level is
that our assesment process-
(A) emphasizes on testing of
procedural knowledge than

mathematisation of abilities.

(B) is gender biased and asks problems

relevant to boys interests.

(C) is more subjective in nature and
less or no objective type of
questions are Included.

(D) gilves more weightage to
formative assesment than
summative assesment.

Which
statements is not trug about projects
in Mathematics-

(A)

one of the following

They enhance FProblem solving
skills.

(B) They establish interdisciplinary
linkages.

(C) They makes scoring easy in

Mathematics.

(D) They promote enguiry skills.
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During dry weather, while combing hair,
sometimes we experience hair flying
apart. The force responsible for this is-
(A) force of gravity

(B) electrostatic force

(C) force of friction

(D) magnetic force

The substance that will be flattened
on beating with a hammer is -

(A) orystal of iodine

(8) lump of sulphur

(C} piece of coal

(D) zinc granule

Which of the following is not a cell?
(A) Red Blood Corpuscle (RBC)

(B} bacterium

{C) spermatozoa

(D) wirus

- Which of the following statements are

correct?

(i) Sound is produced by vibrations.

(i) Sound requires a medium for
propagation.

(i) Light and sound both require a
medium for propagation.

(iv) Sound travels slower than light.

(A) (1) & (i) only
(8) (1), (1) & (iii) only
(C) (i), (i) & (iv) only
() (i), (i) & (iv) only

. Which one of the following solutions will

not conduct electricity?
(A) lemon juice (B) wvinegar
(C) tap water (D) wvegetable oil
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An astronaut standing on the
surface of the moon throws a ball
upwands. The ball would -
(A) directly fall down from the point
it |s released.
hang in space.
go up and then come back to the
surface of the moon.
keep going up and never come
back.
A person met with an accident in which
two long bones of hand were dislocated.
Which among the following may be the
possible reason?
{A) Tendon break
(B) Break of skeletal muscle
(C) Ligament break
(D) Areoclar tissue break

(B)
(<)

()

. Which of the following are homogeneous

in natura?

(i ice

(iii) soil

(A) (i) and (ki)
(B} (i) and (iv)
(C) (i) and (iv)
(D) (i) and (iv)

(i) wood
(iv) air

129, The numerical ratio of displacement to

distance for a moving object is -
(a) always less than 1

(B) always egualiol

(C) always more than 1

(D) equal or less than 1
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130. An apple falls from a tree because of

131.

132.

gravitational attraction between the
earth and apple. If F, is the magnitude
of force exerted by the earth on the
apple and F, is the magnitude of force
exerted by apple on earth, then-

(A) F, Is very much greater than F,
(B) F, |s very much greater than F
(C) F] Is only a little greater than F1
(D) F, and F, are equal

Sound travels in alr if -

(A) particles of medium travel from
ong place to another.

there |5 no moisture in the
atmosphere.,

disturbance moves.

(8)

(C)
(D) both particles as well as
disturbance travel from one place
to another.

Which of the following is(are) an
endothermic process{es)?

() Dilution of sulphuric acid

(W) Sublimation of dry ice

(i) Condensation of water vapours
(iv) Evaporation of water

(A) (i) and (1))

(8) (W)only

(C)  (hid) only

(D) (i) and (Iv)

P.T.O.
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133. If a few drops of a concentrated acid
accidentally spills over the hand of a
student, what should be done?
(A) Wash the hand with saline
solution
(B) Wash the hand immediately with
plenty of water and apply a paste
of sodiurn hydrogencarbonate
(C) After washing with plenty of
water apply solution of sodium
hydroxide on the hand
(D) Neutralise the acid with a strong
alkcali
134.Which one of the following can be used
as an acid-base indicator by a visually
impared student?
(A) Litmus
(B) Turmeric
(C) Wvanilla essence
(D} Petunia leaves
135. Alloys are homogeneous mixtures of a
metal with @ metal or non-metal. Which
among the following alloys contain
non-metal as one of its constituents?
(A) Brass
(B) Bronze
(C) Amalgam
(D) Steel
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136, Buckminsterfullerene is an allotropic form

137.

oF =
(A) phosphorus
(B) sulphur

(C) carbon

(D)
Onxygen liberated during photosynthesis
comes from -

tin

(A) water

(B) chiorophyil
(C) carbon dioxide
(D}

glucose

. Select the group which shares

maximum number of common
characters:

(A)
(8)
(C)
(D)

two individuals of a species
two species of a genus
two genera of a family

two genera of two families

139, The focal length of the eye lens

(A)

increases when eye muscles -

are relaxed and lens becomes
thinner

(B) contract and lens becomes thicker
(C) are relaxed and lens becomes
thicker

(D) contract and lens becomes

thinner

P.T.O.
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Enzymes are basically -
(A) Fats
(B} Sugars
(C) Proteins
(D) Viamins
Which of the fnllnNng_ disease |s caused
by protozoa?
(A). Cholera
(B) Diphtheria
{C) Preumnonia
(D) Malaria

142. The study related to the plants

143.

144

being used as vegetable is called -
{A) Olericulture

(B) Aviculture

(C) Apiculture

(B)  Pomology

Changing the amount of a substance,
does not change its-

(A) Density

(B) Mass

(C) Volume

(D) Weight

Which of the following vitamins does
not get stored in the body?

(A} Vi@min A

(B) VitaminC

(C) VitaminD

(D) Vitamin E
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145. Which one of the following is not the

1456,

147,

objective of teaching of science at
upper primary stage?

(A) Developing gquestioning and
enquiring skilis

Aquiring technological skills
Agquiring Process skills

Aguiring scientific literacy

(8)
(C)
D)
National curriculum frame work- 2005
recommends that science education at
upper primary stage should focus on -
(A} Helping students to connect
classroom leaming to the life out
side the school
(B} Helping students to aguire
international standards in learning
of science
Minimising social disparities in the
students

Promoting human values and

(<)

(D)
knowledge base for Peaceful
society

In science teaching constructivist

approach refers to -

(A) Providing more and more reading

material to student

Providing additienal academic help

to weak students

Applying different mathematical

formulae in solving problem

Providing experiential learning to

students.

(8)

(C)

(D)

P.T.O.
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148. The technigue of role-play is considered

148.

150.

to be an effective strategy in teaching
of sclence because -

(A) it s likely to promote social skills
of students

it ensures breaking of monotony
in the process of learning

it ensures better understanding of
one's role in real life

(8)

(<)
(D) it ensures active participation of
students In the process of
learning

Hands-on actlvities and projects form
an [ntegral part of learning of sclence.
These leaming experiences primarily aim
at -
(A) maintaining discipline In the
laboratory

providing opportunity to students
for extended leaming

assessing the students on
practical skills

keeping the students engaged all
the time

The topic ‘Separation of Substances'
in Class VI can be taught most
effectively by -

(B)

()

(D)

{A) In depth explanation of related
concepts

(B) wusing hands on activities to be
performed by students

(CY using good homeassignments

(D) organising more group discussions on
different sub-topics
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Social Studies APP-11
o1. EEm dwpl & P el 4 @ B 91. Inwhich among the following places of
mtﬂ@hmunﬁmﬂm!? Harappan Culture, terracotta model of
plough has been found?
(A) wiE=aias! (A) Mohenjodaro
(B) ==m (B) Harappa
(C) i (C) Kalibangan
(0) FFamEt (0) Banawali
I Ll e a— 92. In which among the following
period the capital of Magadha was
S shifted from Rajagraha to Pataliputra?
(A) @l seed e of (A) Third Century BCE
(8) et wened gen o (B) Fourth Century BCE
(C) et Wt e o (C) Fifth Century BCE
(D) o5 vl fn of (D) Sixth Century BCE
93, Previfdse & % fvsr wreh < Qg ot s 93. Who among the following rulers adopted
R @ 6t the title "devaputra'?
(A) Wi (B) w3 (A) Sungas (B) Sakas
(C) oot = (0) =i 3 (C) Kushanas (D) Guptas
o4, Prifies & & fisw wer & wam wwier 4. In which among the following
< ‘Hﬁ & languages, 'Prayaga Prashasti’ is
composed?
(&) et (B) wipa (A) Paii (B) Prakrit
(C) wwpa (D) swmdd (C) Sanskrit (D) Awadhi
95. WRY dig Tl & wEl B SRR 95. Arrange the places of four Buddhist
vafea #ifim) Councils chronologically,
(1) & (2) e (1) Vaishali (2) Rajagriha
(3) gpoEER= (4) vy (3) Kundalana (4) Pataliputra
(A} 1,°2:9)4 " (B) 43,21 (A) '1,2,3,4 (B) 4,3,2,1
€)Y 21,34 @ 21,673 () 2,1,3,4 (D) 2,1,4,3
SET-A [49] P.T.O.
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APP-11
Who among the following didn't
contribute in the construction or
renovation of 'Sudarshana Lake’ in
ancient times?
(A) Mauryas (B) Sungas
(C) Sakas (D) Guptas
To which among the followling seas, the
word ‘Erythraen’ indicated In the book,

"Periplus of the Erythraen Sea'?
(A) BalticSea (B) Dead Sea
(C) RedSea (D) CaspianSea

Who among the following contributed in

the preservation of the ancient site

‘Sanchi'?

(A) Shahjahan Begum and Sultan
Jahan Begum

(B) Noorjahan and Mumtaj Mahal

{C) Ahilya Bai Holkar

(D) Durgawati

‘Mumismatics' deals with the study of-
(A) Edicts (B) Potteries
(C) Coins (D) Architecture

In Uingayat sect 'Jangamas’ are—

{A) Temples

(B} Pious trees

(C) Wandering Monks

(D) Women Saints

To which among the following Kingdoms,
*Mahanavami dibba" is associated with?

(A) Bijapur (B) Bahamani
(C) Bidar (D) Vijayanagar
P.T.O.
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(A) SeETEs=]
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o wtw i wdlm ooen § REhfEd @ A
ar?
(A) wmE e
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106, Frrifisn # & e R 2 afih g
whvem wnite fsor of swRn wn en?
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SET-A

APP-11

102. Name the foreign traveller who was

103.

104.

1035.

106.

made Qaz| of Delhi :

(A) AlBlruni

(B) Ibn-Battuta

(C) Barani

(D) Bemier

Who among the following were tainat-
i-rakab’ during Mughal times?

(A) MNobles stationed at court

(B) MNobles stationed at provinces
(C} MNobles stationed at Jagirs

(D) MNobles stationed at the villages
Before the Santhals who were the
residents of the Rajmahal Hills?

{A) Bhils (B) Kols
(C) Paharias (D) MNagas
Who among the following was the rebel

leader at the pargana Barout in Uttar
Pradesh during 1857 revolt?

(A} Shal Mal

(B) Badaruddin

(C} Surajmal

(D) Baba Ram Narayan

";'u"li:h ong among the following was the
first hill station founded and settied by

the Britishers 7
(A) Mainital {B) Mussoorie
(C} Shimia (D) Darjeeling

P.T.O.
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APP-11
In which among the following years

Supreme Court at Calcutta was set up
by the East India Company?

(a) 1772 8 1773
(C) 1774 (D) 1775

. The planet known as the "Earth’s Twin®
ig =
(A) Venus (B) Mercury
{C) Mars (D) Saturmn
Direct rays of the sun fall on the Tropic

of Capricorn on -

{A) 21June (B) 23September
{C) 22December (D) 21 March
Maps showing natural feature of the
earth such as mountains, plains, rivers
are known as -

(A} Physical Maps

{(8) Historical Maps

{C) Political Maps

(D) Thematic Maps

Generally green colour s used in the
maps -

(&) For showing water bodies

(B) Forshowing mountain

{C) Forshowing plains

(D) Forshowing plateau

The continent through which The Tropic
of Cancer, the Equator and the Tropic of
Capricom is passing, s -

(A) South America

(B} Africa

(C) South America and Africa

(D) South America, Africa and Asia
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APP-I1I
Starting from Earth's surface, the right
sequence is -
(I) Stratosphere
(II) Troposphere
(I} Thermosphers
(Iv) Mesosphere
(A) I I ITN B IV
(B) ILI,IV&II
(C) LIOLIV&I
(D) O, IV OI&]
The Aravali range in India is the
example of-
(A} Velcanic Mountain System
(B) Block Mountain System
(C) Fold Mountain System
(D) MNone of these
Two major rivers of India which fall into
the Arablan Sea are -
(A) Narmada and Tapi
(B) Narmada and Godavari
(C) Godavari and Tapi
(D) Narmada and Krishana
Identify from the following states of
India through which the Tropic of
Cancer passes and arrange them from
East to West,
(1) Gujrat
(3) Uttar Pradesh
(5) Madhya Pradesh
(6) Maharashtra
{(7) Chhattisgarh
(A) 1,57, 486
8 2,4,7,5&1
(C) 2,7, 4,6,5&1
(D) 2,4,7,6&1

{2) WestBengal
{4) Jharkhand

P.T.O.
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Rocks which contaln fossils are-
(A) Igneous Rocks
(B) Sedimentary Rocks
(C) Metamorphic Rocks
(D) None of these
Match the List 1 with List II and
select the correct answer using the
codes given below-

ListI ListII

Grass land Location

a. Savanna 1. Ceniral Asia
b. Praire 2. South Africa
c. Steppe 3. North America
d Veld 4, East Africa
Code: a b c d
(A) 4 3 1 z
(E) 2 1 3 a
(C) 4 2 3 1
(D) 3 4 1 2
Which of the following Sanctuaries is

situated in Assam?

(A) Kanha Sanctuary
(B) Dachigam Sanctuary
{C) Manas Sanctuary
(D) Sariska Sanctuary

. "Red Indian' belongs to -

(A) North America
(B) South Africa
(C) South Asia

(D) Australia
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‘Gangri glacier' is situated in -
(A) Uttarakhand
(B) Ladakh
(C) Arunanchal Pradesh
(D) Sikddm
In the following which Is not a warm
Dcean current?
(A) Gulf Stream
(B) Kuroshio Current
(C) Labrador Current
(D) None of these
The first country in the world to
develop hydroalectricity is -
(A) USA
(B) Norway
{C) France
(D) China
According to area, which ane of the
following is largest National Park in
Uttarakhand State?
(A) Rajaji National Park
(B) Gangotri National Park
{C) Nandadevi National Park
(D) Gowvind National Park
The Constitution of India was adopted
on-
(A) January 26, 1950
(B) January 26, 1949
(C) December26, 1948
(D) November 26, 1949

126. Judicial Review is a feature of -

(A) Padiamentary Government
(B) Presidential Government
(C} Unitary Government
(D} Federal Government
P.T.0.
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The Universal Adult Franchise was
introduced in India under :
{A) Minto-Moriey Reform Act, 1909
(B) Montague-Chelmsford Reform Act,
1919

Government of India Act :
The Constitution of India

(C)
()

_ The words 'secular’ and ‘soclalist' were

added to the Preamble to the Indian
Constitutions by the :
(A) 39™amendment
(B) 41% amendment

(C) 42™ amendment
(D) 44™ amendment
In case of differences between the two
houses on an ordinary bill the same |s
resolved by -
(A) The President
{(B) The Speaker
{C) Convening a joint sitting of the
two Houses .

A joint committee of the two
Houses
If a Governor acts as the Governor of
monre than one State then -

(A) Mis salary is pald by the state
where his headquarter is
located.
His salary is paid by the
Central Govermment.

He gets one and 2 half time his
normal salary.
His salary is shared by the
concerned states in equal
proportion.

@

(B)
(<)

o)
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APP-1I
Which one of the following articles of
the Indian Constitution deals with the
impeachment process against the
President of India?
(A) Article 59

(8) Article 60

(C) Article 61

(D) All the above Articles

Equal protection of Law means that-

(A) all laws must be general in
character

(B) all laws must have universal
application

(C) all persons should be equally
treated under
drcumstances

(D) all the above

The members of a State Human Rights

Commission can be removed only

by the - :

(A) The President of India

(B) The Governor of the State

(C) The Chief Minister of the State

(D) The Chief Justice of the State
High Court

How many members are elected for

Rajya Sabha from Uttarakhand State?

(A) 1

(8 03

(C) 05

(Dy o7

similar

P.T.O.
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Which one of the following is
part of electoral college for the
President but does not forum for his
impeachment?
{A) Elected members of Lok Sabha
(B) Elected members of Rajya Sabha
{C) Elected members of State

Legisiative Assemblies

(D) State Legislative Assemblies

. If a new state of the Indian Union s to

be created, which one of the following

schedules of the Constitution must be

amended?

[(A) First

{(B) Second

(C) Third

(D) Fifth

Which Article of the Constitution of

India says, "No child below the age of

14 years shall the employed to work in

any factory or mine or engaged in any

ather hazardous employment™?

(A) Article 24

(B) Article 45

(C) Article 330

(D) Article 368

As per Indian Protocol, who among the

following ranks highest in the order of

precedence?

{A) Deputy Prime Minister

(B) Former President

{C) Governor of a State within his
State

(D) Speakerof Lok Sabha
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139. If a Panchayat is dissolved, elections

are to be held within -

{A) Onemonth

(B) Three months

(C) Six months

(D) One year
140. The powers of the Supreme Court of
India to decide disputes between the
Centre and the State falls under its -
Advisory jurisdiction
Appeliate jurisdiction
Original jurisdiction
Constitutional jurisdiction
Who was the Chief Justice of India when

(A)
(B)
(<)
@)
141,
Public Interest Litigation (PIL) was
introduced to the Indian Judicial System?
(A) M. Hidayatullah
(B) A.M.Ahmad
(C) A.S.Anand
(D) P. N, Bhagwati
142. The main general objective of
social science teaching is -
(A) Cultural application
(B) Environmental awareness
(C) Soclal Commitment
(D) AN of the above

P.T.O.
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143. The main advantage of fleld trip in

144,

145.

146.

supporting devices of teaching is -

(A) Direct Observation

(B) True Understanding

(C) More power retention

(D) Al of these

which of the following is a/fan

characteristics of social science

teacher?

(A) Art of development of Human
Relations

(B) Know different skills

{C) Skill in the use of Teaching Aids

(D) Al the above

The anclent method of Social

Science teaching is-

{A) Problem solving method

(B) Observation method

(C) Lecture method
(D) Practical methed

If a child has learnt to read and

understand the globe, then he has

developed -

(A) Geography related skills

(B) Geography related observational
skills

(C) Practical related skills

(D) Transformation skills
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A Social Studies teacher wants to teach
the voting procedure to the students
of Class Bth. The most appropriate
method he should use Is -
(A) Inductive-deductive mathod
(B) Textbook method
(C) Project method
(D) Dalton method
A Soclal Studies teacher wants to teach
the |ocation of continents and oceans.
Which type of map, He should usa?
(A) World political
(B} World physical
(C) Indian physical
(D) Indian political
To create interest in Social Science
among students, a teacher shouid-
(A) Use same type of teaching
methods
Teach by using text-book
Mot allow the students to ask
guestions
{D) Do activity based teaching
A teacher writes, one of the
Instructional objectives as studen&
shall be able to differentiate
between Kharif and Rabbi crops. The
domain in which this objective will fall
is -
(A) Psychomator
(B) Affective
(C) Cognitive
(D) Skl

(B)
(C)

P.T.O.
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6. Ouestion Nes. 1 o 30 are related to Child
Development and Pedagogy.
7. Ouestion Nos. 31 o 60 are related o First
Il]guugﬂ Hindi ﬂllEnsllﬂL Candidate has :

Mﬂm“rhqm nl'lh-:
language which the candidate has selected as
First language in his'her application form.

B. DQuestion Nos. 61 to 90 are related to Second
language - Hindi OR English OR Sanskrit OR
Urdu. Answer the guestions of only one
language which the candidate has selected as
Second language in his'her application form.
Be careful that the language selected as First
langusge cannol be taken as Second language.

9. Question Nos. 91 to 150 are related to
Mathematics and Science OR Social
Siudies.

' 1. The candidate has to answer the subject |

Ml bhe maii lemce DR ial
Studies as sclected by the candidate in the
application form.

11. Rough Work can be done in specified space of
the Question Booklet.

I2. Do not waste time in solving the questions. If
¥ou cannol answer a question, proceed 1o the

nexl one,

13, Do not fold or demage the MR answer sheet
any way.

14, After examination submit your OMR answer
sheet w0 the mvigilator. Eanqidm:smﬂhwﬂl
hmkaawnﬂhtwl:mmwafﬂhlﬂumm

shoct and Question Bookjet
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gather detailed

If you want to
hool

information (Family history; ScC
background etc.) about the child then

which method of study will you use?

(A) Case study
(B) Observation

(C) Interview

(D) Survey
Suppose you have ¥ 500. You go to
the market and purchase

vegetables for T 150, fruits for
T 275 and milk for ¥ 50. You meel
Mohan in the market, he wants some
money. How much money will you give
to him?

This is an example of -

(A) Understanding Based Question

(B) Knowledge Based Question
(C) Application Based Question

(D) Objective Question

What are the advantages of

constructing essay type questions?

1. It is difficult to construct as
compared to objective type
questions.

2. It evaluates the writing skills and
ability.

3. It emphasizes on application of
thinking and problem solving
skills,

(A) 1,2, 3

B) 1&2

(C) 2&3

(D) 1&3
P.T.O.



